Fig: 1

Plastic Mounting tgmpliate
TSRFVOMG S —2

= 1

<= Position of armbase
T—LAN— L

|

Turntable Spindle

AS2125 AS3095
+ Tt
RS212D RS309D

©

Arm Board

Armbase template sheet

F— LR —XE T R

Guide pin
HAFEY

Armbase template sheet

AN

Refer to the set up
drawing next page.

| TBmEGEED

| REDEYNT YT

—

1‘ SPECIFICATIONS RS-212D (short arm)

il SET UP DRAWING w7y 7 H

RS-212D fH4%
Effective length .
| (from the tonearm pivot to the stylus) 229 mm g"}{& o ‘
(from the tonearm pivot to the spindle) 214 mm (b= 7 — LEG G S #H5e E T HERE) ' 229 mm
Overhang  (from the spindle and the stylus) 15 mm (}‘_77”A@4%m7ﬁ“31& RV ETOEHE 214 mm
| Offset angle (between a groove and the stylus direction) 22° 73‘_:“""“/:\/7}/(2‘/‘}"Ad)"bﬁfﬁ*&‘:i CORERE 15°mm w
| Tracking force adjusting range (direct reading) 0-5¢g *7 ey f‘){;/7 N I D A EE) 22 ‘
Height adjustment range 42 mm - 55 mm | I T B 0-5¢g
| i s g gt _
| Diameter of the armbase mounting hole 34 mm - 36 mm | ma "ﬂ’igm@ L 42 mm - 55 mm
Diameter of the center shaft @16 mm | T b= RS 34 mm - 36 mm
| | T =Ly T ME D16 mm
:
' RS-309D {14
| SPECIFICATIONS RS-309D (long arm) [
‘ Effective length | HhE e
‘ (from the tonearm pivot and the stylus) 326 mm (F—2r7 — SEHEH S E 5 T FEEE) = mm
| (from the tonearm pivot to the spindle) 311 mm (2 7 — WEHE ) B AL 1L O BERE) . mm
1 Overhang (from the spindle and the stylus) 15 mm | F S N T (R R AR ETOIERE mumm
| Offset angle (between a groove and the stylus direction) 19° ‘ Ty W T s (L S0 5 JEE) s
| Tracking force adjusting range (direct reading) 0-5¢ | #HE s 08 o g— =
| Height adjustment range 42 mm — 55 mm F ARG T mnm = 2595 mm

Diameter of the armbase mounting hole
Diameter of the center shaft

34 mm — 36 mm |
®16 mm

T A= AU R
T —hiv T ME

34 mm - 36 mm
¢ 16 mm

Fixing hole on armbase

7—1_}/\'—15511#7“\\
\\

1

1

il

i
Platter E
'

¢

Must be parallel condition

Armbase templatc shect

Ortofon A/S Stavangervey 9, 4900 Nakskov, Denmark
Phone + 4554 91 19 15 Telefax: + 4554 9119 11

fofon

FILh T4 Senvlket TI3-00MEEMI AKX SEE 2-2-6
Phone + 81 3-3818-5243 Telefax: + 81 3-3818-5899

DYNAMIC BALANCE TYPE TONEARM

Instruction Manual

BB =

Model: RS-212D

RS-309D



4.

6.
i,
———and-tighten-the-M5-set screws with the allen-(Hexagonab-wreneh. — — ———

HOW TO MOUNT TONEARM (Ref: Fig 1)

. Place the spindle hole of the plastic (armbase locating) template onto the turntable
spindle and determine the position of the arm base as shown in the Fig.1.

. Place the paper armbase template right under the hole marked “DS212S or RS309D”

. Insert the guide pin through the hole and into the center of the paper armbase
template and make a pin mark on the board. RS212D or RS309D.

Holding onto the armbase template at that position and make 3 screw hole markings
on the board.

. Drill a hole for the arm shaft. (34mm-36mm diameter) and 3 holes for the base
mounting screws (3.5mm for short M3 screws, 2mm for wood screws.) If necessary
adjust the screw hole size that may vary depending on the density/hardness of the
board.

Mount the arm base with 3 mounting screws on the board.

Place the tonearm shaft into the armbase hole, hold the shaft at the desired height,

=7 — OBV H (K13 8)

TIAFATROBST— DT
1. TIAF 4 BOEATS —2 0" Spindle” DR & Z —2 5 — T ILOAL L RAZFEA,
TROERCERAfTS — P 0OEMORS-212D XIERS-309DD K ATH AR A5 AL,
FERENTHRAL T — L= — ART O LM 8 L7105,
T — A — 2R R OE N
1. 7= =X RO PO DS T AR OB T A AT 5,
AL CTT — L= AN MLE M E T AN TR RICY—% 755,
R SRR A B L TR =R O 3O NS TS —F 75,
2. T—2v 7 OBYAHT A @ 34mm - 36mm #BRT 5,
3. X=X EEDTF /UL HMALAEL O 3,5mm, KL O 2mma {5,
R—ROEXC LT R TSN,
b= 7 — LD BT
1. 7T Ay T e _R—RAC AL, R—AOMSDE LR H N AL F THREDATD,

CONTENTS OF PACKAGE

1 x Tonearm 1 x Tonearm cable

3 x Flat M3 screw 1 x Plastic Mounting template

3 x Flat screw 3 x M3nuts

1 x Hexagnal wrench for M5 screw 3 x Wood screw

1 x Guide pin 1 x Hexagonal wrench for M5 arm lifter

1 x Digital Stylus pressure gauge DS-1 1 x Template sheet for tonearm mounting

1 x Instruction

IO T DORE
RS St WSt St 1 PHAARRY « osliionbimabmmene oo e 3
b= Tt Wh =T e 1 MaARAL L F(T— bR — ) -
TIAFIIREY =D eeenene 1 MBI AL T (7 =BT —H)
T IARMAY 3 x 20mm e 3 HAK B comvemmassomiasae e on s .
By R TR 3 T It AT evee e 1
FIOPNEHER DS-1 ceeeereees 1 e S g oo BRSO HRE o o P o oon 3
BRI e 1 (REEEE ceeriii i 1

Fig: 2

Tonearm pipe

.  ———
Cartridge

N Stylus

Turntable

—— Horizontal balance —

Armlift lever

H 2

Stylus pressure controller Counter weight knob

Antiskating

Counter weight

Arm bace

N
. Hexagonal M5 screw

Shaft

___the digital scale registers very accurate number. tune stylus pressure knob until it reads

ADJUSTMENT OF TONEARM HORIZONTAL BALANCE/ STYLUS PRESSURE
(Ref: Fig 2)
Horizontal balance
1. Attach the shell/cartridge onto the tonearm.
2. Turn the stylus pressure adjustment knob counter clockwise until it stops. Adjust the
anti—skating knob until it reads “0”.
3. After mounting the counter weight, move it back and forth with the knob on the top
until tonearm become horizontal/parallel to the turntable.
4. The shell/cartridge with the total weight of 18 g — 40 g can be used for both RS-212D
and RS-309D.

Stylus Pressure Adjustment
1. The stylus pressure is calibrated from 0 g to 5 g. Tune the pressure knob clockwise to
the middle range (about 2 g to 3 g) of stylus pressure adjustment range.
2. Place the digital stylus pressure scale and measure stylus pressure as instruction
manual of this gauge.
3. Turn the stylus pressure knob, until it reads the recommended stylus pressure. Since

=T —AOKIENRTREEETE (K2 BE)

KIEAT L R T

1. b= 7 — Az — Ny a5 15,

2. SHEFREEY =Mt KA AV AN 7T 23ETED L, T F Ay —F 420
% 0" fLEICAbEs,

3. WY B =) A NEEESET % VA O EEOY T ANEE Y v ITHI%IE T
=T = BIS G — T — T I KL DRI TR T2,

4. RS-212D/RS-309D1%, #—hIo P ERE (H—h o +~y R/ OE G ER) 2
18g ~ 40g ECTHFIRETT,

FHEFE
L. $HEE “0g - 5g” ECTHEFHRTY, $HERES 1T /0= FEEIC
AIENGEFH O P RRLE2g - 30 ETHEIT,
2. FHROT VFNEHER T Ly — OERIEO _EITEE | FHEFT OB A #ED
R EHE RS2,
3. $HEFHTIEMAREMAE L LET O T, H—MN o DOMEEREICRAET, $HERE
R e 1 B 2 o B 1 s 4 O e il

ANTI SKATING FORCE (INSIDE FORTH CANCELLER)

When a vinyl record spins the stylus riding in the groove is pulled in toward the center of the
vinyl, causing a greater stylus pressure against the outside wall of the groove than against
the inside wall. In order to counter this pressure an anti-skating mechanism is incorporated
in the tonearm. It is calibrated from 0 to 5g in 0.5g increment corresponding with the same

T FR—T4 T (AP AR T —AF ¥ rET—)
La—KRoEEREEHIR O 2 AR La—ROEWRIZ T Th—2 7 — 5%
e LET, ToF Ry —T 473k O0DEN O SEEI L oEhEEdh iz
HHET, BREIZ0O~5FETT, —BRK0.5gIl/2 > THVET, $HEICAhE THEELT
Taw,




